Monday Night Calculus, September 27, 2021
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Some graphical evidence:
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2. }Ilim h (Andi Cadden Broussard via Virge’s Limits Circuit)
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3. The graph ofy =

3
mx_txta crosses its horizontal asymptote at the pént-5). What is
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4. The graph of the functiorf is shown in the figure. (Allison Myers Abell)
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Find each limit, if it exists.
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5. The graphs of the functions andg are shown below. (Carla Duke RossI)
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Find lim g(f(x) + 1)



6. The graph of the functiorf is shown below. (Katherine Maxwell)
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Find the value of quQ coq f(x))



